

① (a.i)

$$(1-x^2)y'' - 2xy' + n(n+1)y = 0$$

$$P_3(x) = \frac{1}{2}(5x^3 - 3x) = y$$

$$P_4(x) = \frac{1}{8}(35x^4 - 30x^2 + 3) = y$$

② $\{1, x, x^2, x^3, x^4, x^5\}$ $-1 \leq x \leq 1$

$$v_0 = \frac{\int_{-1}^1 P_0(x)^2 dx}{\int_{-1}^1 dx} = \frac{\int_{-1}^1 1 dx}{2} = 1$$

(29)

$$v_0 = \frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}} P_0(x) \quad \left(\frac{1}{\sqrt{2}} P_0(x) \right)$$

$$v_1 = \frac{u_1 - \langle u_1, v_0 \rangle v_0}{\|u_1 - \langle u_1, v_0 \rangle v_0\|} \quad \int_{-1}^1 \frac{1}{\sqrt{2}} dx = \frac{1}{\sqrt{2}} \left. \frac{x^2}{2} \right|_{-1}^1 = 0$$

$$v_1 = \frac{u_1}{\|u_1\|} = x = P_1(x) \quad \|u_1\| = \sqrt{2} \quad v_1 = \frac{x}{\sqrt{2}} = \frac{\sqrt{2}}{2} x = \frac{\sqrt{2}}{2} P_1(x)$$

$$v_2 = \frac{u_2 - \langle u_2, v_0 \rangle v_0 - \langle u_2, v_1 \rangle v_1}{\|u_2 - \langle u_2, v_0 \rangle v_0 - \langle u_2, v_1 \rangle v_1\|}$$

$$\langle u_2, v_0 \rangle = \int_{-1}^1 x^2 \frac{1}{\sqrt{2}} dx = \frac{1}{3\sqrt{2}} \left. \frac{x^3}{3} \right|_{-1}^1 = \frac{2}{3\sqrt{2}} = \frac{\sqrt{2}}{3}$$

$$\langle u_2, v_1 \rangle = \int_{-1}^1 x^2 \frac{x}{\sqrt{2}} dx = 0$$

~~$$v_2 = x^2 - \frac{2}{3} \frac{1}{\sqrt{2}} = x^2 - \frac{\sqrt{2}}{3}$$~~

$$u_2 - \langle u_2, v_0 \rangle v_0 = x^2 - \frac{\sqrt{2}}{3} \frac{1}{\sqrt{2}} = x^2 - \frac{1}{3}$$

$$\|x^2 - \frac{1}{3}\|^2 = \int_{-1}^1 (x^2 - \frac{1}{3})^2 dx = \int_{-1}^1 (x^4 - \frac{2}{3}x^2 + \frac{1}{9}) dx = \left[\frac{1}{5}x^5 - \frac{2}{9}x^3 + \frac{1}{9}x \right]_{-1}^1$$

$$= \frac{2}{5} - \frac{4}{9} + \frac{2}{9} = \frac{2}{5} - \frac{2}{9} = \frac{8}{45}$$

$$\|x^2 - \frac{1}{3}\| = \sqrt{\frac{8}{45}} = \frac{2\sqrt{2}}{3\sqrt{5}} = \frac{2}{3} \sqrt{\frac{2}{5}}$$

$$\frac{x^2 - \frac{1}{3}}{\frac{2}{3} \sqrt{\frac{2}{5}}} = \frac{3}{2} \sqrt{\frac{5}{2}} (x^2 - \frac{1}{3}) = \sqrt{\frac{5}{2}} \left(\frac{3x^2 - 1}{2} \right) = \sqrt{\frac{5}{2}} P_2(x)$$

(7) $x = \cos \theta \quad \sin \theta \frac{dy}{d\theta} + \cos \theta \frac{dy}{d\theta} + n(n+1) \sin \theta y = 0$

$$(1-x^2) \frac{d^2 y}{dx^2} - 2x \frac{dy}{dx} + n(n+1)y = 0$$

$$0 \leq \theta \leq \pi$$

$$\frac{dy}{dx} = \frac{dy}{d\theta} \frac{d\theta}{dx} = \frac{dy}{d\theta} \cdot \frac{1}{\frac{dx}{d\theta}} = -\csc \theta \frac{dy}{d\theta}$$

$$\frac{d^2 y}{dx^2} = \frac{d}{dx} \left(\frac{dy}{dx} \right) = \frac{d}{d\theta} \left(-\csc \theta \frac{dy}{d\theta} \right) \left(-\csc \theta \right)$$

$$= -\csc^2 \theta \left[\cot \theta \frac{dy}{d\theta} - \frac{d^2 y}{d\theta^2} \right]$$

$$\sin^2 \theta (-\csc^2 \theta) \left[\cot \theta \frac{dy}{d\theta} - \frac{d^2 y}{d\theta^2} \right] -$$

$$2 \cos \theta \left[-\csc \theta \frac{dy}{d\theta} \right] + n(n+1)y = 0$$

$$\frac{d^2 y}{d\theta^2} - \frac{\cos \theta}{\sin^3 \theta} \frac{dy}{d\theta} + 2 \frac{\cos \theta}{\sin^3 \theta} \frac{dy}{d\theta} + n(n+1)y = 0$$

$$\sin \theta \frac{d^2 y}{d\theta^2} + \cos \theta \frac{dy}{d\theta} + n(n+1) \sin \theta y = 0$$

$$(x^2-1)^n = \sum_{k=0}^n (-1)^k \frac{n!}{k!(n-k)!} x^{2n-2k}$$

$$P_n(x) = \sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k \frac{(2n-2k)!}{2^n k! (n-k)! (n-2k)!} x^{n-2k}$$

$$P_n(x) = \frac{1}{2^n n!} \frac{d^n}{dx^n} [(x^2-1)^n]$$

$$\frac{1}{2^n n!} \frac{d^n}{dx^n} [(x^2-1)^n] = \frac{1}{2^n n!} \sum (-1)^k \frac{n!}{k! (n-k)!}$$

(1) (2)

Handwritten notes in Arabic script.

$$\begin{aligned}
 & ((2n-2k)(2n-2k-1)(2n-2k-2)\dots(2n-2k-(n-1))) X^{n-2k} \\
 &= \sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k \frac{(2n-2k)(2n-2k-1)(2n-2k-2)\dots(2n-2k-(n-1))}{(2n-2k)!} X^{n-2k}
 \end{aligned}$$

$$\begin{aligned}
 &= \sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k \frac{(2n-2k)(2n-2k-1)\dots(n-2k+1)(n-2k)!}{2^n k! (n-k)! (n-2k)!} X^{n-2k}
 \end{aligned}$$

$$\begin{aligned}
 &= \sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k \frac{(2n-2k)!}{2^n k! (n-k)! (n-2k)!} X^{n-2k}
 \end{aligned}$$

Handwritten notes in Arabic script.